

Member of The University of Texas System

Procurement and Business Services Nacogdoches, Texas 75962-3030

Supplier:

Phone (936) 468-2206 \* Fax (936) 468-4282

Fred J. Miller, Inc. 8765 Washington Church Rd Miamisburg OH 45342-4427 PO Number: **P2501403** 

PO Date: 10/14/24

Page 1

**Delivery Date: 05/23/25** 

CONFIRM RECEIPT OF PURCHASE ORDER AND ACCEPTANCE OF DELIVERY DATE BY EMAILING PURCHASE@SFASU.EDU.

mark.miller@fjminc.com

Send Billing Invoice to:

Stephen F. Austin State University

P.O. Box 6085

Nacogdoches, TX 75962-6085 ATTN: Accounts Payable Ship to: Jessica Martin

University Band Music Bldg 120 2210 Alumni Dr N SFA Box 13043

Nacogdoches TX 75962

Terms: Net 30

FOB: Destination Prepay & Add (QTD)

PURCHASE ORDER NO. MUST APPEAR ON ALL SHIPPING DOCUMENTS AND INVOICES

Item	Description	Quantity	Unit Cost	Total Cost
	Quote #FJM13967 received from Mark Miller			
	Buyboard #670-22			
1	000P20085A BAND UNIFORMS	340.00 EA	225.0000	76,500.00
	Cesario Jacket Purple and black jacket with silver metallic lumina. Includes logo applique.			
2	000P20085A BAND UNIFORMS	340.00 EA	48.0000	16,320.00
	Cesario Gauntlet			

Purchaser: Teresa Rhodes(936) 4684460ADDITIONAL CHARGE:Vendor ID: 20506603Collegiate Licensed:DISCOUNT/TRADE-IN:

Req No: R0082308
Blanket Order:

Employee/Employee Relationship:

TOTAL: CONTINUED

HUB Status: Purchase Class: Coop - Buyboard

Vendor Warrant Hold process runs nightly and terminates any vendors on hold. Vendor EPLS status verified by Purchaser.



Member of The University of Texas System

Procurement and Business Services Nacogdoches, Texas 75962-3030

Supplier:

Phone (936) 468-2206 \* Fax (936) 468-4282

Fred J. Miller, Inc. 8765 Washington Church Rd Miamisburg OH 45342-4427 PO Number: **P2501403** 

PO Date: 10/14/24

Page 2

**Delivery Date: 05/23/25** 

CONFIRM RECEIPT OF PURCHASE ORDER AND ACCEPTANCE OF DELIVERY DATE BY EMAILING PURCHASE@SFASU.EDU.

mark.miller@fjminc.com

Send Billing Invoice to:

Stephen F. Austin State University

P.O. Box 6085

Nacogdoches, TX 75962-6085 ATTN: Accounts Payable Ship to: Jessica Martin

University Band Music Bldg 120 2210 Alumni Dr N SFA Box 13043

Nacogdoches TX 75962

Terms: Net 30

FOB: Destination Prepay & Add (QTD)

PURCHASE ORDER NO. MUST APPEAR ON ALL SHIPPING DOCUMENTS AND INVOICES

Item	Description	Quantity	Unit Cost	Total Cost
	Both gauntlets are black with a silver metallic lumina and purple stripe			
3	000P20085A BAND UNIFORMS	340.00 EA	80.0000	27,200.00
	Cesario Bib Pants Black polyester gabardine with adjust-a-hem feature. Includes embroidery on left chest.			
4	000P20085A BAND UNIFORMS	340.00 EA	60.0000	20,400.00
	Shako Embroidered shako in the front with black fabric			

Purchaser: Teresa Rhodes(936) 4684460ADDITIONAL CHARGE:Vendor ID: 20506603Collegiate Licensed:DISCOUNT/TRADE-IN:

Req No: R0082308
Blanket Order:

Employee/Employee Relationship:

TOTAL: CONTINUED

HUB Status: Purchase Class: Coop - Buyboard

Vendor Warrant Hold process runs nightly and terminates any vendors on hold. Vendor EPLS status verified by Purchaser.



Member of The University of Texas System

Procurement and Business Services Nacogdoches, Texas 75962-3030

Supplier:

Phone (936) 468-2206 \* Fax (936) 468-4282

Fred J. Miller, Inc. 8765 Washington Church Rd Miamisburg OH 45342-4427 PO Number: **P2501403** 

Page 3

PO Date: 10/14/24

**Delivery Date: 05/23/25** 

CONFIRM RECEIPT OF PURCHASE ORDER AND ACCEPTANCE OF DELIVERY DATE BY EMAILING PURCHASE@SFASU.EDU.

mark.miller@fjminc.com

Send Billing Invoice to:

Stephen F. Austin State University

P.O. Box 6085

Nacogdoches, TX 75962-6085 ATTN: Accounts Payable Ship to: Jessica Martin

University Band Music Bldg 120 2210 Alumni Dr N SFA Box 13043

Nacogdoches TX 75962

Terms: Net 30

FOB: Destination Prepay & Add (QTD)

PURCHASE ORDER NO. MUST APPEAR ON ALL SHIPPING DOCUMENTS AND INVOICES

Item	Description	Quantity	Unit Cost	Total Cost
	in the back.			
5	000P20085A BAND UNIFORMS	340.00 EA	32.0000	10,880.00
	Plume Black 14-inch French upright plume with purple mylar.			
6	000P20085A BAND UNIFORMS	340.00 EA	15.0000	5,100.00
	Garment Bags Black polyester bag with a white imprint. Includes an ID window and accessory pouch.			

Purchaser: Teresa Rhodes(936) 4684460ADDITIONAL CHARGE:Vendor ID: 20506603Collegiate Licensed:DISCOUNT/TRADE-IN:

Req No: R0082308
Blanket Order:

Employee/Employee Relationship:

TOTAL: CONTINUED

HUB Status: Purchase Class: Coop - Buyboard

Vendor Warrant Hold process runs nightly and terminates any vendors on hold. Vendor EPLS status verified by Purchaser.



Member of The University of Texas System

Procurement and Business Services Nacogdoches, Texas 75962-3030

Supplier:

Phone (936) 468-2206 \* Fax (936) 468-4282

Fred J. Miller, Inc. 8765 Washington Church Rd Miamisburg OH 45342-4427 PO Number: **P2501403** 

PO Date: 10/14/24

Page 4

**Delivery Date: 05/23/25** 

CONFIRM RECEIPT OF PURCHASE ORDER AND ACCEPTANCE OF DELIVERY DATE BY EMAILING PURCHASE@SFASU.EDU.

mark.miller@fjminc.com

Send Billing Invoice to:

Stephen F. Austin State University

P.O. Box 6085

Nacogdoches, TX 75962-6085 ATTN: Accounts Payable Ship to: Jessica Martin

University Band Music Bldg 120 2210 Alumni Dr N SFA Box 13043

Nacogdoches TX 75962

Terms: Net 30

FOB: Destination Prepay & Add (QTD)

PURCHASE ORDER NO. MUST APPEAR ON ALL SHIPPING DOCUMENTS AND INVOICES

Item	Description	Quantity	Unit Cost	Total Cost
7	000P20085A BAND UNIFORMS	340.00 EA	14.0000	4,760.00
	Vinyl Raincoat Clear vinyl raincoat. Size S-2XL.			
8	000P20085A BAND UNIFORMS	340.00 EA	15.0000	5,100.00
	Hat Box Black hard molded plastic with carrying handle.			
9	000P96286A FREIGHT, QUOTED	340.00 FRT	15.0000	5,100.00

Purchaser: Teresa Rhodes(936) 4684460ADDITIONAL CHARGE:Vendor ID: 20506603Collegiate Licensed:DISCOUNT/TRADE-IN:

Req No: R0082308
Blanket Order:

Employee/Employee Relationship:

TOTAL: CONTINUED

HUB Status: Purchase Class: Coop - Buyboard

Vendor Warrant Hold process runs nightly and terminates any vendors on hold. Vendor EPLS status verified by Purchaser.



Member of The University of Texas System

Procurement and Business Services Nacogdoches, Texas 75962-3030

Supplier:

Phone (936) 468-2206 \* Fax (936) 468-4282

Fred J. Miller, Inc. 8765 Washington Church Rd Miamisburg OH 45342-4427 PO Number: **P2501403** 

PO Date: 10/14/24

Page 5

PO Date. 10/14/24

**Delivery Date: 05/23/25** 

CONFIRM RECEIPT OF PURCHASE ORDER AND ACCEPTANCE OF DELIVERY DATE BY EMAILING PURCHASE@SFASU.EDU.

mark.miller@fjminc.com

Send Billing Invoice to:

Stephen F. Austin State University

P.O. Box 6085

Nacogdoches, TX 75962-6085 ATTN: Accounts Payable Ship to: Jessica Martin

University Band Music Bldg 120 2210 Alumni Dr N SFA Box 13043

Nacogdoches TX 75962

Terms: Net 30

FOB: Destination Prepay & Add (QTD)

PURCHASE ORDER NO. MUST APPEAR ON ALL SHIPPING DOCUMENTS AND INVOICES

Item	Description	Quantity	Unit Cost	Total Cost
	Shipping			

Purchaser:Teresa Rhodes(936) 4684460ADDITIONAL CHARGE:.00Vendor ID:20506603Collegiate Licensed:DISCOUNT/TRADE-IN:.00Req No:R0082308Employee/Employee Relationship:TOTAL:171,360.00

HUB Status: Purchase Class: Coop - Buyboard

Vendor Warrant Hold process runs nightly and terminates any vendors on hold. Vendor EPLS status verified by Purchaser.